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Attempt all 50 questions, each question carries 02 marks. There is no negative morning.
Please mark the correct answer as A/B/C/D at appropriate place on the right hand side of

the question in blue or black ink.

Q.1 Who among the following is the exponent of negative liberty-
71 4 9 31 faRe FeREe Wd=dal &1 gfaed g—

(a) Berlin et (b) Green W=
(¢) Roussecau 4T (d) Marx i

Q.2 '"Intelligence is dangerous because it undermines reverence, science is destructive
because it takes every faith, reason is bad because it sets prudence against moral
institution." Who said-
gf& WA € Y I8 T DI SUET BRal 8, fAe s § Ffd s 8% favary b1 sxur
IRAT 8, Tb W6 8 Ffdh g Afad [FaR & [Ivg TR &1 ad axar &, foa de—

(a) Montesquieu HicwR (b) Rawls T
(¢) Locke SIEY (d) Rousseau wr

Q.3 Root attribute of plato's notion of justice is:
el © S B RV BT Jel dcd 8—
(a) Equality &Mdr (b) Fraternity e

(c) Harmony  dg[ar (d) Liberty  wd=rar



Q4

Q.5

Q.6

Q.7

Q.8

Q.9

According to kotily system of social organization should be based on:
PIfced & TR AW ATeH fhd FaRem WR SMenla & A1y |

(a) Dharma vyavastha (b) Varnashram vyavastha
g g CRIEEESCIO)|

(c) Social Responsibility (d) None of above
IS ST T | IS TE

Who among the following is the exponent of Theory of eligibility of property-
= o 9 e ufa @ ursar &1 Rigra ufoorfea fear g

(a) Johnlocke < i (b) Bentham dem
(c¢) Hobbs HE;S! (d) Rousseau I

Equality before law comes under which category-

FHTA & FqAeT T e Sl # amet 8-
(a) Political RToTIfcrd (b) Economic 3
(c) Civil ANTR® (d) Social NIBINED

What is wrong regarding modern political theory-

MY Iorfs RIgTd & T | &1 Tad § —

(a) Power is studied (b) TItis realistic
SOy SIfed &7 regg eidl & Ig Jreiardy 8

(c) It ignores human behavior (d) Itis based on experience
TEH AT FIER 1 el Bl B | IqE Al W IMRT &

Basis of behaviouralism is:

FIENATE BT IR 2

(a) Dialectical (b) Social Darwinism
garg GIGINEASIEECIC

(c) Empiricism (d) Scientific Socialism
N FCEEIE Jee FHTSTATS

Which of the following principle is propounded by M.N. Roy —
e A ¥ | Rigra & wa.e. 1 =1 gfauifea fear—

(a) Trusty (b) Democratic Socialism

~TRAC AThdIh THSTATS



(c) Sarvoday (d) New Humanism

NEIEH 9 HIAFG 91

Q.10 Direct Democracy's important tool is-

TE Ahds & HEdqul |EEl § ¥ Ud B
(a) Political Party roiiifae <et (b) Voting Right  #aEeR
(¢) Referendum ST ©UE (d) Direct Election yerer fafe=

Q.11 Who among the following define political party as the 'Iron Law of oligarchy'-
by fagr =1 oIfde &1 @1 ‘sfeua= & g W & wU § gari—
(a) Michels fiereq (b) Marx AR
(¢) Gandhi TRt (d) David Apter =fIs T=x

Q.12 Who among the following introduced the input-output analysis in the study of

comparative government and politics:

TS A 3R I & eI & INTA—{1d fATeIyor &I gR9 H3+1 arent 98 & —
(a) H.Laswell va ada (b) Amond SILKS
(¢) David Eston Sfie wem (d) M. Durwarzar UH. gaioR

Q.13 According to Herbert Morrison, Bureaucracy is the-

RIS AIRAT & ATAR ATPRIATE—

(a) Price of dictatorship (b) Price of Parliamentary
AR & B & Democracy
NRERACEREICINCIL R
(c) Price of Monarchy (d) Price of federalism
ST &I BIAA & HEATE B DA ©

Q.14 Judicial Review is-

1% gRIGATH &—

(a) Only in India (b) Only in Britain
Hael WRd ¥ ®ad focd #

(c) Only in America (d) Both in India and America
Hacl IPRIBT H IRA 3R FRIBT qH A

Q.15 World's most powerful legislature is-
fawa &1 Taiftre wfademen faumrsa 8-
(a) Indian parliament (b) British parliament



Q.16

Q.17

Q.18

Q.19

AR ¥a fafewr =
(¢) American Congress (d) Swis Federal Assembly
ST BT Reg e 1

Which one of the following is an essential pre- requisite for constitutionalism:

fre=foRaa § @ HI T Gfdemdre &Y Smaedd g g—

(a) A written Constitution (b) Power distribution
forRea wfder NIENREEINE]

(c) Fundamental Rights (d) Limited Government
ESRSIEEIN WA TRBHR

Which one of the following is not an essential feature of the parliamentary system:

i1 # O I ST UoTTell @ faeivar 8t 28—

(a) Fixed tenure (b) Collective responsibility
fAf¥aa srdee A2 ITRATRIT

(c) Nominal head of the state (d) Political uniformity
AHAT BT HRIUT TehT RSEINCASNIRIEI

Constitutional government means:

HILTh AXHR BT 372f g—

(a) Government in accordance with the terms (b) Rule of law

of the constitution fafer &1 emae
AAE™ & JITAR TRBR

(c) Civil Rights (d) All of the Above
ANTRE 3TfErhR SENESISE]

In a Presidential Government ?
JNEATHD A H:
(a) President is responsible to the Legislature (b) Cabinet is collectively

Irguf faenfier & ufa SoRer gar € responsible to the Lower House
of the Legislature

Arred AMfed WU ¥ e e
% Ui IRERT BT © |



(c) Cabinet is responsible to both Houses of  (d) President is responsible to the [

Legislature people
IR BIC & |

Q.20 A technique commonly used by the pressure groups in the USA is:

HRIDT H SaTd WHEI gRT AW AR TR JAYATS STl dTell debeiidh o—

(a) Boycott and Picketing (b) Lobbying
IREEHR 3R =T QAT (U=

(c) Lawsuits (d) Peaceful agitations [
B RUISPUISIESE!

Q.21 Which one among the following is not correct matched:

/T % 9 BT T 981 gAferd T8l o

(a) G.V.K.committee-1985 (b) Ashok Chanda committee -1978
SIAL & <19 AAfa—1985 3relep Hedl AfMfd—1978

(¢) Singhvi committee — 1986 (d) Balwant ray Mehta committee- |
Ryerdl Hfafc—1986 1993 qcfa~ ¥ Agar HfAfd—1993

Q.22 Which one of the following amendments to the constitution of India sought to curbthe

political defection:

fhg A GIEE & gRT JoHIdd Sad—dgd bl R & &1 yard fhar a7 |
(@) 4ond  42qi (b) 2nd 62 i
() 70th 704 (d) s5ond 52 4 [

Q.23 Governor can issue ordinance when:

JISUT P TSI SR DR el &

(a) Prime minister asks (b) state is under threat of law and
SERCIELEE T order
g A1 ST H B AR e Bl
HPbe Bl
(c) State assembly is not under session and (d) Never [
governor is satisfied that such condition CRIEE

are there to act immediately



Q.24

Q.25

Q.26

Q.27

Q.28

19 W I fAEEd T 9 7 AT 81 8IR IrsauTd
Aqe @ fd Ul aRRerforn faemm § R

A HRATS T4 8

Who among the following is not appointed by president of India —
1 # A 5 wRa & Tgufa & gy fgad T8 fear Srar € —

(a) Governor IrSgUTe (b)
(¢) Chief Justice q& =TT (d)

Ambesooder  Toigd
Vice-president  SuRTsgUfcy [

The tenure of every Panchayat shall be for five years from the date of-

YD GATId & HTIBIA Uid 9 9 | Bl o

(a) Declaration of the election results (b)
g aRemE & |\ 9

(c) Issue of notification for the conduct of (d)

elections of the Panchayat

AR A @1 RRIEET oIR 8F &1 fafdr |

What does article 17 of the Constitution Say?

e & TR 17 @ ATAR—

(a) Untouchability is abolished (b)
IR BT FATG PR &A1 11
(c) Practice untouchability is an offence (d)

FIER H IRYTYAT Uh IR &

Who decides whether a bill is a Money Bill or Not?
DI T T BT & & o s o+ fergss € a1 78—

(a) President (b)
rezafe

(c) Speaker of Lok Sabha (d)
ATHEHT 3feTeT

Its first meeting

SAD! Ugell dodb |
Taking oath of office by the [

elected members

faorll SRICaRI gRT 99T o &l
fofer &

The practice of untouchability is
forbidden

FAER H RGN BT 7RI ©

None of the above [

SURTGT 4T

Chairmen of Rajya Sabha Irsaam
CARSEICIR]
Prime Minister [

PEIBE LR

The Chief Election Commissioner can be removed from his office:

J& YATd AYed DI SHD U A ESRAT I Aebell 8—



(a) By the Chief Justice of the Supreme (b) By the President

Court Ul gRT
qare AT & & A R

(c) By Cabinet (d) On the Dbasis of proved [
HIEMESEIEI misbehavior by 2/3'd majority of

both Houses of Parliament
HEE & al fd8s 9890 @ gRT S9a
Teld IRV & JHIOIT B9 UR

Q.29 Which among the following is not a peasant movement :

1 # & BT b fHar srala T8l 8-

(a) Telengana Movement (b) Chipko Movement

(c) Kheda Movement (d) Tebhaga Movement [
WSl AT RIS

Q.30 Political equality means —

RIS AT &7 37ef 8—

(a) Every citizen should be given political (b) Every citizen should be given a
education chance to work in the
g AN Dl ToTlfcre e <1 St government turn by turn
AR | Y% ANTRG BT R aR | ATET |

B B BT JGAR AT AMRY

(c) Every citizen should be given right to (d) Every citizen should be a [
vote and contest election member of any political party
URId ARTRS B AT & IR A ST Bl JAE ARTRE Pl AT e g
BRI A1fRY BT &R BT =AY

Q.31 Who rejected the principles of administration as 'Myths' and 'Proverbs'-
fhaeT U= & Rygicl &I Rl 3R ‘HEEdl & wU H JADBR [HIT—
(a) W.F. Willoughby  faefr&t (b) Herbert Simon wTEH
(¢c) Chester Barnard TS (d) L.D. White FRe [

Q.32 How many principles of organization were propounded by Henry Fayol?
7



g BAT 1 Wied & fbad Rigrd gamnfed & |
@) 10 (b) 14
(c) 5 d 9

Q.33 The history of evolution of the Public Administration is generally divided into-

i Y9RIE & AT & gfde &l Rk W fhaq =xon § fawforg fear siar 8-
(a) Three phases d= =RoT (b) Four phases IR =R0Il H
(c) Five phases 9= ==l (d) Six phases &: @RI H

Q.34 Bureaucracy in the modern state is the form of:

MIeh o H AIpRATE 1 § A fherept vy &—

(a) Traditional authority (b) Rational-legal authority
ORERITT A< qaefiie— fafae ar

(¢) Charismatic authority (d) Political authority
BREATS NSRISCER]

Q.35 "Loot system" in the public service is related to-

ST # Wil @ e YTel! BT AR fe <91 | 8-
(a) America  3FRIGI (b) Britain fae
(c) France BT (d) China El5]

Q.36 "Office Bureaucracy" means-

‘THAR ATHRIME BT 37ef -

(a) Formal organization (b) Informal organization
AR AT ITERe e

(c) Training (d) Promotion
gfrefor U

Q.37 The institution of 'Ombudsman' was first introduced in JFISTHT AT BT WATYAT HIULH

fpq <=1 H g5—
(a) Swiden-1809 wrs+—1809 (b) Finland-1920 fihiefs—1920
(c¢) India—2013 9Rd— 2013 (d) Japan — 1940 SiraT—1940

Q.38 Which pair is not correct —



Q.39

Q.40

Q.41

DHITAT I AT B

(a) Introduction to the study of Public (b)
Administration- L.D.. White
3oeRMA < f el 3ift ufetd vsfifagem
— TSl @R

(c) Administrative Behavior- simon (d)

vsfifrefed faRfr — age+

Principle of Public
Administration- W.Wilobi
fiRkuer 3ffe ufetd TsAf g IM—
Sy faatrdt

Public Administration in a time

of turbulence- urvick

gfecTdhr USRS 39 U T8H 3%

exXgeid— Sfdd

Central vigilance commission was established on recommendation of which committee

frq AffT & el &1 9 H IR IR H =g FAdhdT AART B LAYl §s—

(a) Santhanam Committee (b)
NOISCECIEIR]

(c) Ayanger Committee (d)
IR FiAf

Which of the following is not an All India Service
T 7 9 Bl T siRaet wRe At &t 8-

(a) Indian Foreign Service (b)
ARAR facel dar

(¢) Indian Forest Service (d)
IRAR 99 e

Match list-I to list- II

List-I List-II

J. Decision Making 1. Martin Shubik
K. Game Theory 2. John Burton

L. System Theory 3. Murton Kaplan
M. Realistic Theory 4. Morgentho
- 1 &1 g&i- 11 ¥ gafera siforR—

J. fooig fomior 1. \1féa gfdsw

K. @a g 2. S 9

9

Vajpayi Committee
areraudT |t

Ashok Mehta Committee
SNICIR NI GIR]

Indian Administrative Service
TR Jemae Jar
Indian Police Service

IRATT gferd |ar



L. =gavern Rigrd 3. A9 b

M. Jemardr Rigr 4. grter
(a) J-1 K2 L-3 M4 (b) J-2 K-1 L-3 M4
(¢) J-2 K-1 L-4 M-3 (d) J-1 K-2 L-4 M-3 [

Q.42 Main element of national power is: T 27T &1 U@ qd &—
(a) Population ST (b) Geography @i
(¢) Ideology IEEIRCING (d) Aboveall SWRad O [

Q.43 Main Demand of developing countries is:

faeprereiiel el givrm & <ur &l ggRg /v € —

(a) New World order (b) New International Economical
RERCECECES) order 78 3R 3rel aya=er

(¢) New international political order 8 (d) New international security order |
RIS gl S SARTSEI e ael

Q.44 Which of the following pair is wrong?

=1 9 41 T Tad o—
(a) Tashkand Agreement — 10 January 1966  (b) First nuclear test- 18 May 1974

drerhe FHSIAT — 10 STHAN] 1966 Ugell URATY] TR — 18 Wy 1974
(c) Shimla Agreement — 3 January 1972 (d) Panchsheel Agreement — 29 [
e |Fwsiiar — 3 e 1972 April 1954

YoefieT THsiar — 29 3T 1954

Q.45 Who among the following is the pioneer of the theory of neo-realism-
1 ¥ & B Ta—gerarg &I WEd & —
(a) Waltz qroc (b) B.Buzan 4. goid
(¢) Morgenthau Arferr (d) Laski AR [

Q.46 Which of the following is not an input function of political system: /=1 % ¥ ®I=4T TH

RISTHITI® SRR BT T BT &t 8-
(a) Political communication (b) Political recruitment

10



RUSEIINEISEIN NSEIREICRI
(c) Interest articulation (d) Rule adjudication

fea ayfador o

Q.47 The dependency theory emphasize on which aspect of impearlism-
iR frgm IEsae & 99 U8g W WIR <l 8-

(a) Economic  3fd&® (b) Political Torifcr®
(c) Cultural NIEEARED (d) Strategic HER®

[

Q.48 Which two states led the non aligned movement during the cold war standing apart

from the America- soviet rivalry?

1 # 9 fo <1 vt 7 e gg @ IR orNie— wifdud uftrugt @ are W e RYerar @
< fpar—

(a) India-Egypt (b) Japan-China
IR ST
(c¢) India-Japan (d) Egypt-China
ARA—SIIT e —i

Q.49 Which among the followings would not be considered as realist-

=1 & A 61 gemefardy T8l $' dhd—

(a) Woodrow Wilson (b) Meachiavelli
ESARESSN At

(c) Hobbs (d) Suntzu
BIs g7 o

Q.50 Which of the following is not a main organs of the United Nations —

T % | BT U g gAY Bl g ST TRl g

(a) General Assembly (b) Security Council
HETRAHT Frerr uRug
(¢) Economic and social council (d) UNESCO

11
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